Ke

Review for Final 2016
Period: » Geometry 22
Note to student: This packet should be used as practice for the Geometry 22 final exam. This should not be

the only tool that you use to prepare yourself for the exam. You must go through your notes, re-do
.omework problems, class work problems, formative assessment problems, and questions from your tests and
quizzes throughout the year thus far.

Section 1
1) Classify each statement as true or false, and explain your reasoning in each false case.

a) Two planes intersect in only one point. f(}\SQJ, TINO (‘) LAneS \ntersect
A o W

b) A ray starts at one point on a line and goes on forever. ’t'ﬂ] e/

c¢) The intersection of 2 planes is one line 1’( NP

d) Any four points are collinear. {’O\\% Q*, IVIEs WG (\)Oiﬂ‘{'& (110,
C0p\ N0 )

Describe the difference and similarities of skew and parallel lines. C el b

Both Sl duneos §oradlyl Jono 0 Aok (Wit REVer R GG

Porralad (ines OXe coplanoy, wuinile S Qinuo are ok

Use the figure below for #6-14. Note that RN pierces the plane at N. It is not coplanar with V.

a) Name two segments shown in the ﬁgure.mr AN, MM X

s

b) What is the intersection of CM and RN? M

¢) Name three collinear points.?\ )N j\{ 0 C.\N5 LA

~ U

What are two other ways to name plane V?g lane P‘RMX) ¢ g}d\x
L0 ANC

Arepoints R, N, M, and X coplanar?Nb N

T

Name two rays shown in the ﬁgureﬁi INW\? ] {3‘_‘3 .

Name the pair of opposite rays with endpoint N@ W\ ﬁ?_ @ AN \3{

h) ANisthe same as NA. True or False? frue

i) ANXnames a plane. True or False? J\VQ\SQ,) Cothoety ‘Q(}N*S CONNQE Name o Pl&\f‘\b

~ 4) Construct and label the Jollowing:
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5) For the follom;r_l_g exercises, do _t_h_f: construction using the figures below.
a) Construct AB congruent to XY.

b) Construct the‘perpendicular bisector of XY. . .

X Y
¢) Construct a segment parallel to XY .
X Y
d) Construct an angle congruent to £2 :
e) Construct the angle bisector of £X
X

6) Below each figure write the name of the kind of rigid transformation shown.

D =

(£ e ction rotation trapslatien

Section 2
Complete the following statements:

1) ZABC and ZBCD are complementary. mZABC =6x° and m/BCD = 12x°. Find x.
X +\2X = q 0 -5

2) ZABC an LBCD are s i)plementary mZABC =40x° and m«/BCD = 20°. Find x.

UDX +20=130

Lox=160 K4
3) AB=2x+1,BC =16 inches, AC = 5x —4. Use 4) Solve for y: m£DGF =12y — 5, m£EGF = 24°,
the diagram to solve for x: ms£DGE=5y+6
EaxH ——f 9*%“9\9\ 5
f
s F oy Aty

%0 1Y

55

AR HG=HX-4
A T=5%-4 \X=7
A\ =5X



5) WS bisects £ BWV. m/BWS =32°. What is m/BWV?

v % |
| ‘ @ o) 2 30 57°

o LN

6) Determine the value of x:

a)

50° 2x + 20
0= AXHLO LYl gyt 80°%
5%0"” 5?:153%,)%5‘ T M an rAXHE 00 AXED
=2 At SY +110=1%0 1Y =
@ @ - waem 24 |

7) Use the following steps to determine whether the given statement is a definttiomn.

Linear pairs are supplementary, adjacent angles.

a) Conditional statement : W | ) o In
6 o ioay POl then the QgLS (1€ SUPPUINLATAY &
bﬁm@ angs form & lneof pd 0 ) a(jau o N

e 05 4t Supplneatacyvadiacent, han fhey 0L
o ot oo d i Jrq e, ey

”ﬁ?@ﬁ%{*{? TR g 1 Sy O Supplameationy and adjgutnt

d) Decide whether the statement is a definition. Explain your reasoning.

Yosa ot the Conditondt d (QaNR(R R Tl

8) Write the conditional statement that corresponds to the Venn diagram below:

1€ you age. O ped arician, 1t — Dor
i 082 0 A0y
Section 3
1) For the following exercises, refer to the diagram below. Lines m and n are parallel. Name all angles
congruent ‘t\(ﬁ)et‘(}ft ‘, C%i‘veg \e)a.(r-xgl\z z‘r;d give thi “th\ev(\)rems or postulates that justify your answer. ’j \1/
Jhoy ek o ”“}(‘ 12 m 3
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2) For the figure to the right m«<BCD =160 - 3x °, and

mZCFH = 35°. What is x?
What Theorem or Postulate supports your answer?

103 ¥55=150 «
: O m—— /F

~3X +195= (&0 anad
27 @S oewon 00 | o
ooy AL AN

3) For the figure to the rl‘ght m£BCA = 68° and
mZCFH =92 - 8x°. What value of x makes AD||E H? ¢

What Theorem or Postulat
Aa-ox=ue (omerse 0f 5

‘Mﬁ‘ - 24 V(}‘(\d\\ﬂ 4

ez) | Onais o
4) Fill in the blanks so that the sentences are true,
a) The sum of angles in any quadrilateral is 30 .
b) Ina parallelogram diagonals bisect 1 ot and opposite angles are

o _Longaunt 5
O A LW and a {0MDUS k*\bGL O\{have perpendicular diagonals. .
e) A erp(%md is a quadrilateral with only one pair of parallel sides.
f) A square is a quadrilateral with 4 congruent sides and I right angles.
g) Arhombusisa \\OU‘(Q\\Q\Og(CM with four ( O‘H?}NW \F sides.
B A_QQY a\\el0 SY 0 ' is a quadrilateral with 2 pairs of parallel sides.
i) Any four-sided polygon is a ﬂUddY [INCEOAN
j) Arectangle is a quadrilateral thh 4 ( \(\V\’( omc:\us (ony st diggenals, lm\x% of D(M\\Q\
| aoisect dthathe S8
5) Polygon DEFG is a parallelogram. GF =3 in, DG =2 in, mz&GDE— 110°
<0 %ﬁ&““‘%

P B a) m4DGF = :’LQ '
& M Supp-
L ( by maGFE= \|0) < 0} 03 hte-*



‘ 6) MNOP is a thombus. If m<MNO =88, find each of the following:
a) msNoP=_Y"0

f
{

. b) mZOPG= i %q)

c¢) mZOGN =

7) Parallelogram RUST
m/RUS=__ 58  RU=__ 30cm___ RQO=__ 9cm
v mzUST=_117 . US=__ 28ecm__ QOS=_9cwn
m/STR=_5%° ST=_30um TQ =

m/TRU=_j7°C.  TR=_&QM  gU=_49Nh

R

RS = UT = 50cm
T a4 S
8) Polygon ABCD is a thombus. AB = 4x + 2 and AD = 30. What is x? Give a reason for your equation.
' : AYXtZ B
(oMol
R o A

9) Polygon ABCD is arectangle. AC and BD intersect to E. AE =12ft. Whatis BD?

< \)
{

NI E S AU L5 - 00N
10) Use trapezoid TRAP to the right to answer the following: %
A

If msT = 60° find the measures of the other angles. ‘ f \\

wzk= | &L mtd= 120 mLP =

11) Find the following.
@) NM=_- b)x =
G z
N M
32-52x 2
I =
50

c) What is NM called? (NG C0 £




12) Find the slope, midpoint, and length of each of the following segments whose endpoints are given.

a) (-1, 4)and (4,10) BE | b) (8, 0)and (0, 6)

1

13) Lines that are parallel have 1{\(, ((I([\ ¢, slopes and lines that are perpendicular have U/ MU slopes.

14) For the following, a quadrilateral has vertices (2, =5), (-8, =5), (<2, 10) and (6, 5).

a) Graph the quadrilateral on the grid provided.

b) What type of quadrilateral is this? Show ALL work necessary

to justify your answer.

B

Section 4
1) Write a congruency statement for the following polygons. Why are they congruent?
A F ‘
5 &




" 2) Determine whether each pair of triangles can be proven congruent by using the SSS, SAS, ASA or AAS
congruence postulates. If so, identify what postulate is used.

3) Determine whether each pair of triangle scan be proven congruent by using the SSS, SAS, ASA, AAS or
HL congruence postulates. If so, identify what postulate is used and write a congruency statement.

- Q T : /7477‘//74 9

ne (, /45/? is not

T‘-'~ n the convect M 6IeANIG
P ”1773 4/1011}5/" nfY Corder)
d N F\’(\S Y W 4 X 5 :
e 45 L 885
Al > 5 AF\BD =
.M s O2AG o AP e A
3

4) Label and sat¢ what additional information is required in order to know that the triangles are congruent for
the reason given.

a) ASA

Y ADVT & oy VT

5) Determine whether or not the triangles below are similar (you may need to do a little work to figure it out)
by AA, SSS, or SAS, or none of them. If they are similar, complete the similarity statement.
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6) Determine whether the polygons are similar, not 31m11ar or not enough information given. If they are
ine the scale factor comparing the first to second figure.

similar,
A
2 NWNQ' 4 4.5 b) 10 ©) 2 4
5\\86% | 8
L %jﬁ : T Y
g 2 .9 j_l_/ |
Lo e\ v (‘. ?) ~
* .

ons are sumlar; find x and y.

\0K-5 22

Q‘) The follow\lng polyg

—

9 A =)

540

8) AAFN ~ ADPG AF=2cm., FN= 3cm DG =

m«£D? i i f .
he two trlangles are sumlar then estimate the length of the lake.

9) Use the following image to explain why t




Zi 1) Use the diagram to find the height of each building.

i B — e
‘ ) B ) 0 ft
36 ft
12 ft Lo
24 ft
30ft 40ft _

Section S

1) For# 1-3 two lengths of the right triangle are given. Find the missing length.
a)a=13  b=ARK! c=14

e \5 4 :
a
b)a=12 b=16 c=
b ‘ .

Ja= (e =In95 - b=7 c=13

2) A triangle has side lengths given below. Determine what type of trianglé each set is (acute, obtuse, or right
Show work to support your answer.

e L

241327 4O i 24t 30"

a. 24,40, and 32 b. 30,24, and 19 c. 6,14,and 11 -

3) Find the missing side lengths. Leave your answers in radical form.

a) b) - ) 9 /s
Y 222 .14

o
60 =




4) For the following, APQR, m&PQR = 90°, PQ =6, m4QPS = 60°, and PR = 12.
a) Find QR = [,

g b FindQS=

¢) Find SR =

d) Find the area of APQR =

5) Find the area of each figure. Round your answers to the nearest tenth.

G
E b) 35
7ft ld.d
D F s
H I
3.5 ft
6) Find the area of the following figures.
12ft c)

: 20 mm 12 mi
14 ft 16 mm 8 mi 5 mil 8 mi
207 o — 3
=Y s - ¥ ‘ A 20 mi
in

o T P, =

7) Find the circumference AND area of each figure. Leave your answer in terms of 7.

a) r=8mm b) d=26cm c)

al




9) Find the radius of each circle from the given information. Round to the nearest tenth if necessary.

-
S

%‘%b) Circumference = 120 ft

!
|
E
i

é"length of the base is 25 c¢m, what is the‘height‘?

12) If the area 0f a trapezoid is 250kin2, the lengths of the bases are 23 in and 27 in, what is the h

eight? -

a of thé shaded re

14) Find the are gion.

TR

mwa




‘Section 6
1) For the following, refer to the solid below.
F

a) Name the solid. Triansts lar ps
e i P s
b) Name a pair of parallel planes. APHC /[ ET D

¢) Name two segments skew to BF f¢ asd T
d) Name two segments L to plane BFD. & a-od TD
e) What is the volume of the solid if BC =4, AC 3, and DC

: <A
LD L e pH= (OO ﬂ;mj

o wa Y e

- 2 S—-f”" o~ (e ) -
2) What is the slant helght ofa M with a radius of 8 in. and a height of 14 in. 5“&@ SNy @ 1z

o 1> L
Find the Surface Area and Volume of each right prism. Round to the hundredth if necessary. 5{ 7 @\i( wﬁ{

3) Find the Surface Area, Lateral Area, and Volume for the following solids. Give an exact answer

a. b. c.BC=12,CH= 5 apothem = 6.2
d. e. f.
g.

h. apothem = 5.2 cm I.
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8 cm

PP
B

6 cmi

6 cm

4) The surface area of a swrm1d is given by 540 cm* cm? and the 51de of the square is 10 cm. Find the slant

height of the square pyramid. Sw= =0 IR . SYs=dp 100
= |
R =bh~ ﬁ;@ = (oo $YHo 2£{ypy ) +100 w

e
Do 4 'ﬂ;?%

o & P

=y D 5T ;l;l;;;&k

5) The Volume ofa thnder is 960 cublc inches. The hel ht of the cy hnder is 15 néfzhes blnd tne“radlus
N & g:w e T g e

fhore AR T

6) If acylinder has surface area of 128 7T sq ft and the height of the cylinder is 12 feet, find the radius and the
_ volume. i (pt{ E?;r + {*’L co 4 =6 \[m =

-
o s ————TT E
&= o J=YFr | Yz f!;Wéﬁ
— A= '

g\s
{
v

7) The Volume of a spherical ball is 5 0007 cm’. What is the radius of the ball‘lmw -

e

) o

B
Rt |

Section 7

1) Find the degree measures of each arc or angle by using the central angle measures given in OM
e . °
gmic_ 151 nmFA__ 5o
. < [ o e k L
¢) mCBF cy Ea dmbB__ V7
e) mADC % O %9 f) mDCA Q q (&
o) maDMC__ < 0




2) Determine arc with length L of a circle with radius 8.5 in and degree measure 2 240°
Gor © F@o ) EE 3 /“}g 23 = 356 0n

- -
2785 e ®

LAY

3) Each polygon circumscribes a circle. What is the perimeter of each polygon?

4) Using circle O below, name the following: ﬁ%"@wé’; (B oLl

. EF/8 ;&"«g/
. Diameter 3>
4¢b. Central Angle ¢ (5 i}‘a"’ 1LE0E
<4c. Minor Arc f@ ?w'
4 d. Major Arc /& B / f"”%?\m
£ve. Semicircle e
=f. Radius =52 =&
g. Tangent T
h. Point of Tangency &=

24 T
a) mZBAC O b) m£BEC
omiB [ D% d) mzACB S

&) msABC G0 f mzdcD __70° o g
PP

/%ré"jc‘
ok e 4
g) PS5  isaminorarc, ALf5 isamajorarc

hfﬁ /7.7 isaradius, AC is a d L LT et K-

) CDisa_“DnsonT Aie

In OM, if BC=12,CD =16, and AC —20 find the following: _ -.
o N j)BD= ﬂ’f« =3 058K AD = &ég e = 4 ?‘!ﬁ “ @z%
A N L : s

zﬁa;a

L "
x /94 n™




Find the measure of the arc or angle in ©M.

7. mLOMP = L0 8. m/NMO= Ho'
9. mLPNO= b5 10. mLONP= 207
11. mQO~= 1207 12. mNop= 150

13. mﬁQ = C@@' 14. f??@é}'f: AS0

15) What is the value of x? Lines that appear to be\ar_i‘g%me tangent. Round to the nearest hundredth if
necessary.

16) Write the equation for the circle with center (2 4 and radius = 7 in
fxn%}b;%w Coooanb= 114

/M’w,xmwi pet

v

e
17) Write the equation for the circle with center (—:?, 1) and diameter = 18in "= 4

(e NTy N e
AT ST ff wut ) B &

18) Find the center and radius of the circle: (x- 7 +(y+12)° =144
< R, - oL

19) Find the center and radius of the circle: (x + 52+ (y + 8)2=225
o '@ e"“ g rf‘J e
< =57, ) =15

20) Graph the circle on the coordinate plane.

a. (x+2) +(y-4)"=16 b. (x-7) +(y-8)* =1 c. (x=2)"+(y+3)* =36
e
==
CeC-2,9) Ch(F, 8)
'8 ol




Section 8

fad

va Skateboardmg ramp is 12 in. high and rises atan angle of 17°. How long is the base of the Tamp? What
1s the length of the ramp? Round- your answer to the nearest t inch. s o A 5 N
- i Y ,:Mi 7 T !; %

Pl

.
A = k| i
HAN T

5) Joeyis walﬁlng home from the library. He can walk for 1 mile along the street, then turn rlght and walk 1.5

miles along another street; or he can cut across a large field straight to his house. At what angle (9 should
he head off from the library, and how far, d, should he cut across the field? ., [ ey bE
o - W’?‘W”

- Slo C 15m H — |
\ =50 |
g ‘%" M; £ T 7 .
Im H f ‘f ‘53 Z'” (éz
“ zas=d% | _

@’ d
A=

L




Proofs

1) Given: 4B and £D are right angles, 4B = CD
Prove: £DAC = £BCA

Statements Reasons
1. ZB and £D are right angles, AB=CD 1

2. A4DC and ACBA are right triangles 2.

3. Ez@

4. AADC = ACBA

5. ZDAC = ZBCA

2)

Fill in the blanks in the table below to prove
Z/CBA=ZCDE

Statement Reason

CB =DC Ghen
CA=TE &ven
Z/BCA&/DCE are vertical | D 2+~
angles
/BCA=/DCE
ABCA=ADCE
ACeh T KCNE

v



Given: mZ1=100°, m£2 =80"

Prove: [||m

Statements

Reasons

1. m£1=100°, m£2 =80’

1. Given

2. £2 and /3 form a linear pair

3. Z2 and /3 are supplementary

2. BQ;’?‘ ot lheso Lol
¢

3. Linear Pair Property

4. mL2+m”L3=180"

wn

80" +mL3=180"

5. v _1m
SO bShtuhb-

mZ£3 =100

L A R R s e
O VSV T 0 ?{7 fﬂi;}, {;;'f

msl=m/3

o
1}

:\Q wd W\‘%;"%M)W?)\q Crn ;

Al=/3

\DQ:Q\ %31@

ol o N o

Z1 and £3 are Corresponding Angles

Fonde (o4 Snteace

Fa g A
Lore . AN

10. ||m

nf (orr. X< Thmm
E
4) o
Given: GE=0OE ; m«£E=38°
Prove: mZG=171°
G 0

Statements Reasons
1. GE = OE 1. Given

. LG=L0

. mZG=mZ0

. mLE =38

o s

2 e L e

. mZG+38 +msLG =180’

T,
6 < usHh i Q@ﬁ,:z

. 2-m£G+38 =180°

7. j

. 2:mLG=142°

L Dwmising L %@L L Erm§
8. ; .

> m“?’wﬂ“%m v, -

2
3
4
5. mZG+mLE+mZ0=180°
6
7
8
9

MEG=

% %> Wision Paop T
W




